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 Time of one small pulse (660 uS)
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Time of the big pulse (8.58 mS)
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 The small pulses that come after the big pulse.  This is the worst case mode (DVD mode), as the other modes produce a shorter pulse train (i.e. TV Mode)

 Note: there are 33 small pulses
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The entire pulse train over a 100 mS period.  Note the pulse train only appears once over this period.

The duty cycle is as follows:

1 big pulse - 8.58 mS
33 small pulses X 660 uS each = 21.78 mS
Total time = 8.58 mS+21.78 mS = 30.36 mS = 30.36%
The duty cycle for the data sheets was rounded up to the nearest half % (30.5%) 


